Choose the word closestin meaning to the word written i in capital letters.

1.  TOIJETTISON A
(A) Togoonatrek (B). Tofly =
(C) Toabandon . (D) Tofireagun oeries
Inthe given sentences, choose the word which is the opposite to the underlined word. -
2. People are unwilling to follow the rules.
(A) Waiye (B) Neglect
(C) Dispose (D) Disregard
3. His appearance on the scene was fortuitous.
(A) Circumstantial (B) Un fortunate
(C) Sudden (D) calculated

In the passage below, a choice of four words marked as A, B, C and D is qu\?vgﬁlted Clmose
best word to fitin the blank marked with numbers 4,5.6,7,8, 9and 1)

You probably know about instant coffee and instant tea. They-are': gﬁl\o modern man's life.
However, have you heard 4 instant trees? Yes, Mr. Mohan M\ Umhbai has achieved thle feat

bya 6 poleplanting technique. By thisnew 7 atrec ctBh%L sily grown 8 three monthstoa
size which 9 nomlallvh'nelaktnlhrc.a.ymrqm ll] \

4. (A)of (B)with rc.é\'q’; Lt (C)at (D) from

5. (A) belonging from (B) within (C) from (D)on

6. (A) fanciful o\ I'L Q'Tfl’tmmnry (C) classical (D) bridge

7. (A) strategy ¢ ) >method (Cyenvironment (D) diameter
8. (A) within | M B) during (C) after (D) from

9. (A)shall (} (B)would (C)will (D) regularly
10: (A) plam (B) grow (C)attain (D) birth

In que§|§}1\s>ll 12.13 and 14, a sentence has been given with one underlined part. There are

three possible substitutions for the underlined part written as A, B, and C to correct/
improve the sentence. If the sentence does not need improvement, then you can indicate D as
your response.
11. Whenever my students come across a new word, I ask them to_look for them in the
dictionary.
(A) tolookitup (B) tolookthemup
(C) tolookatthem (D) noimprovement

12. Heinsisted on he was innocent.

(A) Insistenton that (B) Insi-:;lcd that
(C) Insisted with (D) Noimprovement
13.  Each furniture on display in this hallis on sale.
(A) eachofthe furniture (BY each piece of furniture
(C) eachoncofthe fumniture (D) noimprovement
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The building is a prime example of architecture of the 18" century.
(A) primary (B) paramount
(C) /primitive (D) noimprovement.

Choose the correct word to fillin the blank.

A

Series

15.  Climbing Mount Everest is aremarkable
(A) feet ‘ (B) feat
(C) foot (D) fete.
16. Thelossofhis father him deeply.
(A) Affect (B) Effect
(C) Affected (D) Effected.
N ford arqal ¥ forar fagtyor & fafrea a1 |
17. @Ed % a5 J a81 § 9{9e |
(A) & (B) @@l
(C) ®{e (D) «Fm
18, e fR-4R vge &
(A)  dR-41 (B) T&d
© @ (D) T
19.  TH A a1 12T 6 g o fvehet T |
(A) o (B) @9
(C) & (D) =gd
o=t gt A forar &t fafsa a¥ |
20. 7T 98 R wRe F &7
(A) T (B) Fra
€ = (D) %
21. A g @
(A) T (B) ol
(C) =W (D) @
g1 el &1 3ief Fur @72
122, &I 1 S
(A) TR A &) g
© TR H S (D) 9% J |G FAT
@ Code No. p:&11/2019-Series
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23, S [ET 9 ISl

A

(A) ¥ YT T (B) §F &I T HA L3
(C) B YX S e et (D) SIS & Fu1E & Series
ﬁﬁﬁrﬁaﬁmﬂq\ﬁﬁwﬁaﬁ?ﬁﬁmﬁﬁaqﬁmél
24, (A) @ (B) T (C) A (D) =
25. (A) T (B) # © Tui (D) T
fr=rferRaa W faehyor fod |
26. =D I A HHI GBI Bl
(A) H (B)
(C) &l (D) &
27. i I MBI N STGHM AT B ¢ |
(A TR (B) STgAM
(C) @ (D) A
Fr=ferRaa Areifaaa) &1 aref aag |
28. H9E S
(A) 7 g1 7 1 ! (BY ST 6% 9aT =t %6 3T &
(C) N LT HIil § et foran 1 (D) &=at &R are T 38
297 et el &
(A)  TTaEeT (B) AR HHT
(C) @il &1 e &1 (D) TR
30. '{T@Slﬁ'gﬁ:—
(A) = 9| (B) W 4K
(O (D) =it 9
31 Hﬁ’fﬂaeﬁ:-
(A) TTE (B) gdmEw
- © yuErE (D) A
32. 3R &1 faudar® 9= g
(A)  SATRIST (B) =X
(€) = (D) ST
©) Code No. i81¥/2019-Series
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34,

35.

36.

37.

38.

Which of the following sectors in India does not belong to the 'Service Sector'?

(A) Insurance (B) Transport A
(C) Construction (D) Hotel & Restaurant Series
Friferiad § | i &1 &= a7 a8 § e o

(A) Fmr ; (B) uitEsd

©  fm . (D) BRAd W

Which of the following districts in Himachal Pradesh has the least forest cover area wise?

(A) Kinnaur (B) Kullu

(C) Lahaul & Spiti (D) Una
mm%mﬁﬁﬁ?ﬁﬁéqaﬁmﬁﬂﬁﬁﬁﬂm@
(A)  fE=R (B) %Y

(C) e aen wife (D)

What is the representation of 1° Latitude in Kilometer?
(A) 111Km. (B) 222 Km,
(C) 1111 Km. 2222 Km.
1° mﬂzﬁrﬁﬁwﬁﬁ%ﬁmﬁaﬁm%?

(A) 111 fHorio (B) 222fFoHto
(C) 1111 Fodlo (D) 2222FFoHio
What is the Length of Rohtang Tunnel?

(A) 10Km. (B) 8.8Km.

©  9.2Km. (D) 8.0Km.
e G ot g R 7

(A) 10fFotio (B) 8.8Fhoiio
©, 9.2FFoHio (D) 8.0fHoHlo
Upanishads are books on:

(A) Philosophy (B) Yoga

(C) Theology . (D) Law
SUIE TS B

(A) SS9 @t (B) A

(C) THH (D) R

Prior to Kullu Sultanpur, what was the capital of Kullu princely state?
(A) Bajaura (B) Naggar

(C) BajiriParaul (D) Ba_un Rupi
G, Y & e, g el ot o e o7

(A) T (B) ™R

(C) s qlm (D) =it &

l
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40,

41.

43.

44.

'Parushni’ was the mythological name of which river?

(A) Beas (B) Ravi A
(C)  Yamuna (D) Satlyj Series
=it 3 & fre 4t 1.9 9 ‘qrEa ) o

(A) =M : (B)—~ Tl

(C) T (D) WG

When was Shimla made the summer capital of India?

(A) 1905 (B) 1919

(C) 1864 (D) 1885

FT¥TeT <t el IR &l ST ST =TT 7T 4r?

(A) 1905 (B) 1919

(Q 1864 (D) 1885

Of'the following, which sportsperson was awarded the first 'Rajiv Gandhi K hel Ratpa'?
(A) GeetSethi (B) Vishwanathan Anand

(C) Karnam Malleswari (D) Sachin Tendulkar

i & & g st & wduem *Tia T S T Te R i ar

(A) a2 (B) faggama aig

@  FoW AweEd (D) wfe dgaat

Who founded the Ramakrishna Mission'?

(A) RamaKrishna Paramhans (B) SwamiDayanand Saraswati

(C) SwamiVivekanand (D) Mr. Keshav Chandra Sen

T o1 e it T e o di?

(A) THF RHES (B)- @M T ATl

(C) @i fqasrg (D) i F99 9 A

Himachal's most aged voter who voted in the Lok Sabha elections-2019 died recently.
(A) Shaarni Devi (B) Bhuri Singh Negi

(C) Karam Devi (D) Manjari Devi

fesmTereT 1 T ol T 1 e B @ H g R are a1 g 2019 F e Rear an
(A) S (B) 0 e i

(C) & (D) Herdi &

The 'Tropic of Cancer' passes through which of the following states?
(A)  Gujarat, Madhya Pradesh, Chattisgarh, Manipur

(B) Uttar Pradesh, Bihar, Jharkhand

(C) Rajasthan, Jharkhand, West Bengal, Mizoram

(D) Mabharashtra, Chattisgarh, Orissa, Andhra Pradesh

@ Code No. p:@81i¥/2019-Series
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Only one person bought 5 Perk packets
'E' bought two packets of Gems. A

Packets of Cadbury bought were more than those of Snickers but were less than —
those of Munch. Series

Based on above information, answer the following five questions.

B8 ATl A, B, C, D, E 8K F 7 STe-31e <iiebere @iy avetq s, O, 59, S $i Sl o8
| IS A STA-3Ten HE § Wahe @i 1.2, 3.4 37 51 a1 ST O & 9 | S sTavas e B
< § STfereh AR 3 O & avg A1 FE S § aegel 3 et

'C | 19 e Tl

'A' Y Feadl e TE @i

'B' ¥ U Yehe TR

'A' 3R 'D' ¥ T gE | Tae @i

2l AR 3 S $ U "R

399 0% A 1 5 I e GiR| :

'E' S & T 3 Ushe @i )

Gl & e, Feret 3 Bt ot wom @ o Wt o AR B3 Bt e & a i
q

ST fftad STt & SR 9% 37 979 9941 $7 397 3

49,

50.

51,

Ofthe following, who bought Cadbury Chocolate?

(A) B (B) D
(C) E (D) F
it | 4 fres dead e @ld?
(A) B (B) D
(C) E (D) F
Of'the following pairs, who bought equal number of packets?
(A) A-B (B) D-C
(C) E-B (D) A-D
Frfeiaa & 4 fea gl 3 wam den ¥ fae de?
(A) A-B (B) D-C
(C) E-B (D) A-D
Of'the following, who bought Perk chocolate?
(A) B (B) D
(C) E (D) F
fr=fciiaa 7 & fee uah e Tdd?
(A) B (B) D
(C) E (D) F
(9) Code No. ;& (i1/2019-Series
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52.

53.

54.

55.

56.

What is the difference in number of packets bought by C and D?

(A) 1 (B) 2 A
(D) 3 (D) Seri
CﬁRDm@ﬁ%mﬁ%ﬁaﬁmﬁwmﬁ? cries
(A) | (B) 2

C) 3 ' (D) 4

What is the average of packets bought by F, C and D together

(A) 3 (B) 4

€ 5 (D) 2

F, C 3fR D 211 U 89 @i ¢ Yl i Siiaa §en 741 81

(A) 3 (B) 4

(C) 5 (D) 2

Four questions given below are based on the five 'three' digit numbers given below:
851, 375, 638, 249, 526

A R e = s, e &t 1 e ‘A St o He 9 S €

851, 375,638, 249, 526 J

If the digits of every number are arranged from left to right in an ascending order and then
the numbers are arranged from left to right in descending order, which of the following will
be third from the right end

(A): 375 (B) +526

(C) 638 (D) 249
qﬁuﬁzﬁm%aﬁaﬁaﬁﬁmmm (ascending order) ﬁ afted foar S & SfK
HeEmat Pt dfe § 2 S F4 (descending order) H Exaﬁa?rﬁmm% o F=fifaa § 9
P T 2Mfe B & e Enm?

(A) 375 (B) 526

(C) 638 (D) 249

IF 2 is added to the middle digit of all odd numbers and 3 is subtracted from the first digit of
all even numbers then what will be the difference between the biggest & second biggest
numbers of the newly created numbers.

(A) 525 . (B) 729

(C) 602 (D) 582

afs ot e weet & Hew 3 & W 2 Sl S ¢ SfX wl an Heen $ oo o 4 3 @l

TN A1 & A 7 a1 g2 TS Tl 7 9a9 a9 ofR gudl wa 991 |eAn i Siat erm
(A) 525 (B) 729
(C) 602 . (D) 582

What will be the product (multiplication) of third digit of third number from the left and
second digit of second number from the right.

A) 27 - (B) 36
(C) 28 (D) 32
10 Code No. P28 (/2019-Series
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38.

59.

60.

61.

A1C B | A4 e % it ofd ofiT 41 SiT & godl Her 3 Zu ofF H 1 IAR A
Zrm? .

(A) 27 — vt = gy 36 Series
(C) 28 _ (D) 32

If the first & last digit of every number is interchanged then which of the following will
become the second largest number

(A) 526 (B) 638

(C) 851 (D) 375

T S WEAT % el ST Y o P od A e fEar A o Frefated § 8 $E-d@ gad
TIq ISt 9= I

(A) 526 (B) 638"

(C) 851 (D) 375

Choose the odd one out.

(A) Japan (B) China

(C) KualaLampur (D) Indonesia - t
STl e STeT ey

(A) SUE (B) @M

(C) TR (D) gvEHfEmEr

IFTOGETHER is coded as RQEGRICT in one code then PAROLE will be coded as ............
in the same code

(A) RCTQNG (B) RCPQJK

(CJ] NCQPIG (D) NCPQIG

T 1S § TOGETHER % RQEGRICT et 31 <1t & 0 PAROLE a1 8 1s § 3 gfeq
e sa?

(A) RCTQNG (B) RCPQJK

(C) NCQPIG (D) NCPQIJG

If the third day of a month is Monday then what will be the 5* day after the 21" day of the
same month.

(A) Monday (B) Wednesday

(C) Tuesday (D) Noneofthe above

afe W16 1 A6 & qiear & & 36 7 & 213 759 $ e 547 R @ ar em?
(A) @ m@Mv GT?,:rr'rnLB.) gHar

(C) *ER i () T A T

Among five boys, Basant is taller than Manohar but not as much as Raju. Jayant is taller
than Pradeep but smaller than Manohar. Who is the tallest?

(A) Raju (B) Manohar
(C) Basant (D) Cannotbedetermined

@) Code No. m2019-Series
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e et i, T @ i 3, g o 7 o < B e, S @ o
S g PR & BT 1 B e A

(A) T (B) ¥l Series
(C) 9Ha (D) ST &l ferar s |

{6?../. In the English Dictionary which ofthe following will come in the third place
(A) Monatchy (B) Mondstic
(C) Monefary (D) Moneyed
3Tl g 8 Frfoiaa § @ S ST S 9T Sem?
(A) Monarchy (B) Monastic
(C) Monetary (D) Moneyed

63. Choose the odd one out

(A), PRT (B) QOM
(C)- CEG (D) UWY
HH-81 99 § fire 87 '
(A) PRT (B) QOM *
(C) CEG (D) UWY

64. How many meaningful English words can be made with the second, fourth, sixth and
seventh letters of the word STUMBLE using each letter only once in each word?

(A) One (B) Two

(C) Three (D) None

33 1= STUMBLE % &R, 919, B2 d 69 STl ! Safad Hte (o ardsh Siiel =
T S H &7 e 1% 7 U TR 3l A O AT ol SIgad H © o

(A) T (B) @&

(C) (D) @ &
65. AVA]'x[V16]'+8=2"

(A) 8 B) 5

< 9 (D) 7

66.  The average of Ram's five different scores in the tests is 46.5. It was learnt later his two
scores were written as 40 in place of 38 and 32 in place of 36. What is his corrcct average?
(A) 42.1 (B) . 46.9
© 439 (D) 47.5
T %l 5 ST GREnd i STEG 46.5 81 9% ¥ I8 S g3 [ 96 &1 WK 38 3t SFTe 40 36
%! e 32 ford T e el Sirad a1 87

(A) 42.1 (B) 469
© 439 ,5}, R (D) 47.5
| @ Code No. JBT3/2019-Series
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69.

‘A’ completes a piece of work in 12 days. 'B' is 20% more efficient than'A". 'C'
completes the same work taking 6 more days than 'B'. What will be the time
(days) taken by 'B' & 'C' jointly to complete the work

A

Series
3 2
A 3— . B 5—
(A) 3 (B) 3
®) 4I | D 62
4 — B
- 13 (D) 073

'A' T 1 H 12 B F QU T 81 B 20% TR 9 & ‘A’ |1 IR 'C' gH 71d F B’ F 6
7T fei # e & dl ‘B’ 97 'C' i et & @ et 3 e o @

(A) 3= B) 5=
13 (B) “13

41 2
° 3 T

The ratio of the biggest and sccond biggest angle of a triangle is 3 : 2. The smallest angle is
20% of the sum of the biggest & second biggest angle. What is the sum of the smallest &
second biggestangle.

(A) 100° (B) 90°

(C) 80° (D) 105° |
s TS & Ha0 99 ofT gAY WY a3 FI1 H1 ST 3;2 ¥1 §aQ BIeT HIv, §ay 937 9 ST
TAL TG T3 IO B AT H 20% 21 GG BIe SR T T g HI0T 1 4 41 81

(A) 100° : ' (B) 90°

(C) 80° (D) 105°

Inthe following series, identify the wrong number.

2269, 2284, 2319, 2376, 2539, 2760

(A) 2760 (B) 2284

(C) 2319 (D) 2376

=1 &9 e TET ST B?

2269, 2284, 23 19, 2376, 2539, 2760

(A) 276037 53 (B) 2284

(C) 2319 ™ (D) 2376

A certain amount of money from Rs. 5000/- is lent at 10% interest per annum while the
remaining amount is lent at 20% interest per annum. In next two years an amount of Rs.
1 700/- is earned as simple interest on these two amounts. What is the amount that has been

lentat 10% interest perannum?
(A) "Rs.1500/- (B) Rs.1900/-
(C) Rs.2100/- (D) Rs.1345/-

Code No. p:8i¥/2019-Series
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71.

75

Rs. 5000/- & j, FB T 10% i ¢ SR qwh -l 20% sfr af @ 96w & @ |
SFTel &1 W1 3 37 & T 9 S WIEReT S e 98 R, 1700/
&S 10% oy a4 93 Sur & w@r? ) o e A

(A) Rs. 1500/- _ (B) Rs. 1900/-
(C) Rs.2100/- : (D) Rs.1345/-

Series

Theratio of the mcs of father and mother at the time of the birth of their son is 9 : 8. The ratio
of ages of father & mother would be 17 : 16 when their son's age would be double of his
presentage. What is ratio of present ages of father & mother.

(A) 15:14 . (B) 13:12

© 10:9 (D) 16:15

RS SR Il 21 oY 1 SFUIT 9:8 o1 7 S G 1 ST GaM T M S A 1 ag

AT 17: mt&}maaaa%gaa-ﬁaﬂamﬁaﬁiﬁamﬁ%ﬂﬁmﬁmmwﬁaﬂw

371G 1 ST 41 2
(A) 15:14 (B) 13:12
© 109 (D) 16:15

A train crosses the platform in 25 seconds. The length of the platform is 240 meters. What is
the length of the train?

(A) 140 Meter (B) 200 Meter

(C) Cannotbedetermined (D) Noneofthe above
@%Wﬁvsﬁmﬂmmﬁ%@Eﬁﬁﬁaﬁﬁmoﬁa%@wﬁmmﬁﬁ?
(A)  140%rT (B) 200%ET

© iR T ST e (D) TR § FIE T

Softwares such as Explorer & Firefox are alsocalled as .............

(A) System Software (B) Utility Software
(C) ij:vscrs (D) Internettools
TR ST BTG T8 AT oo 1 FHeEA &l
(A) faww diweaad (B) 3Ffead! Hiveaad
(C) a3 (D) FEHT T
During diving, the gas used for breathing is a mixture of oxygenand...........
(A) Nitrogen & Helium (B) Helium
(C) Argon (D) Carbon Dioxide
MNar@r § e & e A 19 NgaE el & I ST oY . ... & GHIEe Bl o
(A) R T e (B) iferad
(C) ami (D) e SIS

unk-email is also called as
(A) Sniffer Script (B) Spam
(C) Spool (D) Spoof

@) Code No. 28 {/2019-Series

Scanned by CamScanner



76.

f g

Sib-20 I 9€ W Fad B

(A) FEe-Repe o (B) & A
©) ¥ (D) % Series
The 'Sankalp Project' is reJated to the elimination of
(A) HIV-AIDS (B) Polio
(B_), Tuberculosis (D) Leprosy
“HeT ST s S & Hef B
(A) HIV-AIDS (B) diferay
(C) &g (D) oI
The density of wateris :
(A). Mini_mum at—4°C (B) Maximumat4°C
(C) Maximumat0°C (D) Minimumat0°C
SIST 1 9 Brl o1
(A)  —4°C 9T ZaH (B) 4°C YT Jfemas
(C©)  0°C9Y fuwan (D) 0°C 9T 7w
Humanskin is
(A) Anorgan (B) ATissue
(C). Acell N (D) ARespiratory system
{99 94 (skin) 81
(A) UF ST (B) Suh
© & (D) 598 @
In India anew born baby is vaccinated with which vaccine
(A) B.CG. (B) Hepatitis
(C) Tetanus X (D) _ Polio
AT g4 H AT [979] 2T B i S & S )
(A)" ... (B) ®Uerged
(C) e (D) qiferdt -
Why is it easy to cook food in a pressure cooker?
(A) [Itcreates high pressure & high tension
(B) Morestecam is generated inside the cooker
(C)  Theboiling point of waler increases
(D)  Theboiling pointof water decreasces
U9 FehT H G TR ST F1 erll 67
(A) T2 I= 2419 g HEF TG TG~ HLdl 2l
(B) &FH % I AU A9 &9 SRl 8
(C) O F1 FaiT 9¢ S Bl
(D) 9! I TG FH &l el &
* %k k k k% k k%
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